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& FT J71 7 AR 3y R T & |

(ix) ool H1 39T AT E |
c=3x 108 m/s
h=6.63x 1034 J s
e=1.6x10"19C
o =4nx 1077 T m A-!
gy = 8.854 x 1012 C2 N-1 m~2

1

4ne)
g & Go9HH (m,) = 9.1 x 10731 kg.
¢ BT g0 = 1.675 x 10727 kg,
T 1 go|H = 1.673 x 1027 kg.
FTENTIG! €A1 = 6.023 X 1023 9fd I8 71 A

Segst f=rdmes = 1.38 x 1023 J K1
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General Instructions :

Read the following instructions very carefully and follow them :
(1) This question paper contains 33 questions. All questions are
compulsory.

(it)  This question paper is divided into five sections — Sections
A B C DandE.

(iti) In Section A : Question numbers 1 to 16 are Multiple Choice
(MCQ), Assertion and Reasoning type questions. Each question
carries 1 mark.

(iv) In Section B : Question numbers 17 to 21 are Very Short
Answer (VSA) type questions. Each question carries 2 marks.

(v)  In Section C : Question numbers 22 to 28 are Short Answer
(SA) type questions. Each question carries 3 marks.

(vi) In Section D : Question numbers 29 and 30 are Case Study-
Based questions. Each question carries 4 marks.

(vit) In Section E : Question numbers 31 to 33 are Long Answer
(LA) type questions. Each question carries 5§ marks.

(vitt) There is no overall choice given in the question paper. However,
an internal choice has been provided in few questions in all the
Sections except Section A.

(ix)  Use of calculators is NOT allowed.

You may use the following values of physical constants wherever
necessary :

c=3x 108 m/s

h=6.63x 1034 J s

e=1.6x10"19C

Ho=4nx 1077 T m A-1

g9 = 8.854 X 10-12 C2 N-1 m2

1
4 =9x 109 Nm?2 C2
7580

Mass of electron (m,) = 9.1 x 10731 kg.

Mass of neutron = 1.675 x 1027 kg.

Mass of proton = 1.673 x 1027 kg.

Avogadro’s number = 6.023 x 1023 per gram mole
Boltzmann’s constant = 1.38 x 1023 J K-1

I 55(B) Page 3 of 24 P.T.O. I



@ collegebatch con

«ug -
1. feeft fvg -1 pC 3maer fsfua st 2 34 fuve gra 1
(A) 6.25x 10125 i hi g (B) 6.25 x 1012 goiergil bl Afew
(C) 1.6x 1013samemishiasd (D) 1.6 x 1013 soiaeHi <l BT

9. e ar =1 20 °C W yfae 50 Q 2 1 120 °C Tk TH HTH YT 38R Tfaue

51 Q8 AT@T & | 19 o Ugred o1 Jfciier a9 T[umeh 8 1
(A) 2x104°C-1 (B) 1x104°C-!
(C) 5x104°C-1 (D) 1x103°C1

3. %aﬁgmﬁaéaﬁ%mén?ﬁﬂﬁnnwﬂmaﬁtmqwaﬁé
wwﬁwm@mm% | 5 3 B # gea 2m 3R 3T 2 1

_)

mmsﬁﬁ{sﬂﬁéﬂ%ﬁmmé | g ST TohaT §ieT ST AT ? 1

(&) 4F (B) 2F
© F o 5

4. Tordt wew W fR4d 5.0 cm ol fopell O 8 1.0 A <1 91 YerTled &1 @ e,
T AR <l TS o orread 0.3 T 1 hig ThEHT Jreehid & ST (bl

T2 | 39 IR W 7 9T §of 1 YIHAT @ — 1
A) A (B) 0.45N
(C) 0.03N (D) 0.015 N
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SECTION - A
1. A charge of —1 uC on a body represents 1
(A) loss of 6.25 x 1012 electrons by the body.
(B) gain of 6.25 x 1012 electrons by the body.
(C) gain of 1.6 x 1013 electrons by the body.
(D) loss of 1.6 x 1013 electrons by the body.

2. The resistance of a wire at 20 °C 1s 50 Q. When it is heated to
120 °C, the resistance becomes 51 Q. The temperature coefficient

of resistance of the material of the wire is 1
(A) 2x104°C-1 (B) 1x104°C-1
(C) 5x104°C-1 (D) 1x103°C1

%
3. A particle of mass m and charge q moving with a velocity V at

- -
right angle to a magnetic field B, experiences a force F .

Another particle of mass 2 m and charge 2q enters the same
_)

= \Y
field B with a velocity by in the same direction. This particle

will experience a force 1
- -
(A) 4F (B) 2F
F
%
© F D) 3

4. A 5.0 cm long wire carrying 1.0 A current is kept in a region
in which a wuniform magnetic field of 0.3 T 1is applied
perpendicular to the length of the wire. The magnitude of the

force acting on the wire 1s — 1
(A) zero (B) 0.45N
(C) 0.03N (D) 0.015N
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(A) T=Taw g1 o 1Y A gt qh Tfe F=RoT % TeTT IR o HH LT ¢ |
(B) T BT o |1y 1 Gl T 1ferd HeRUT o ToTQ &R ohi 3114k i 2 |
(C) Tt BT+ o |1 W Gl ek WAfekd HeroT o foTQ slieedl shi 3T hidl 3 |
(D) T i o |1y it gl e Mferd E=0T o foTU Slleed shi 3Tereh e 2 |

6. ToRell dTS1 § oA 1ot Traehid Forad 0.4 s H 3.6 Wh & 1.6 Wb &1 ST & |

131 § IR emf 1 9iHTOT § — 1
@A) 5V (B) 25V
(C) 15V (D) 0.5V

7. Toreht o1 SMigreh | W] A9 <6 foTu 3w B et ferpa-grahia faferore 1
(A) T feRtol (B) 3ar fertoi
(©) 3 fT (D) y-fel

8. +40 cm 31K —20 cm WIHE AT % Gl Udcl oiF ¥k § gH1e feord & |
i3 fore iHi o 36 TN o T 3= W @ 8 | 9ie gra o1 Sfdafes
& — 1
(A) SSASEE60cm TR (B) IASH % a1 40 cm G W
(C) HASH % W 20 cm g W (D) 3R

9.  THH & H TAHH GHHH m,, b fehefl ST 3R g™ m ) b feheft e &

HG Q el qneed SHHE: A, A E | (A/A) FIAME — 1
m m

(A) mz ® &
me me

©) m (D) m,
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A step up transformer — 1

(A) decreases the current to transmit power over short
distances with minimum loss.

(B) increases the current to transmit power over short
distances with minimum loss.

(C) increases the voltage to transmit power over short
distances with minimum loss.

(D) increases the voltage to transmit power over long
distances with minimum loss.

6. The magnetic flux through a loop changes from 3.6 Wb to
1.6 Wb in 0.4 s. The magnitude of the induced emf in the loopis— 1

(A) 5V B) 25V
(C) 15V (D) 05V

7. The electromagnetic radiation used to kill germs in water
purifiers is 1
(A) Ultraviolet rays (B) Infrared waves
(C) Visible rays (D) y-rays

8. Two thin lenses of focal lengths +40 ¢m and —20 cm and placed
coaxially in contact. An object is placed at infinity, in front of
the combination. The image formed by the combination will ie — 1
(A) at a distance of 60 cm, in front of the combination.
(B) at a distance of 40 cm, in front of the combination.
(C) at a distance of 20 cm, behind the combination.
(D) at infinity

9. The de-Broglie wavelengths associated with an electron (mass m,)
and a proton (mass mp) moving with the same velocity are

A, and Ay respectively. The value of (Xe/kp) 1s — 1
m m
A P B) 2
O ®) 5
m m
C e D e
© ® s
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10. ST BISSINH UTHTY] < Higet | fopelt gorereia o fmfetRad d @ i & wshaor
H e e AN o HieH Icdtoid aiil ? 1
(A) n=3¥n=1 B) n=3dn=2
(C) n=4¥n=3 D) n=4"n=2
11. =Y TASH SIS ST IUFNT FTHIGT T ST 8 — 1

(A) -3 dicedl & 8T 4 W (B) he-37 dicedl & &5 § Uzl
(C) et Eeed &0 o & 8 W (D) ety Hqwd € % &5 & T

12. fafersia # = feu o fope tugeft wTo] <6 HIEH § p-JehR 1 THTeTe S

27 1
(A) IR (B) A
(C) ufeewi (D) <R

e : T T 13§ 16 § @ HYA U T & — Tk 1 AR (A) T GE

1 SRl (R) e fomam T 2 | 37 U o TE 3Tl o1 A flew i (A), (B),

(C) 3 (D) 4 @ =¥ HIfT

(A) IATHYT (A) 3 HROT (R) THT T & 3 HROT (R), 36T (A) H
T e g |

(B) T (A) 3R HROT (R) THI T &, T SR (R), AfTHeH (A)
e AT T B |

(C) oA (A) T B, 9 R (R) 31T 7 |

(D) AR (A) 3N HWOT (R) SH1 & A 2 |

13. AT (A) : hadl FrEehiT FoTad B Tad IiEad &t el d INd emf
T ITTET HL ThaT 8 | 1
% (R) : Ui g 6 fesm 3@ YR B B T 39 g g 39
FrEhI & 9T < IR T FTel T & T aiad o
[ENEETGES
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10. Which one out of the following transitions of an electron in
Bohr’s model of hydrogen atom will emit a photon with the

greatest frequency ? 1
(A) n=3ton=1 B) n=3ton=2
(C) n=4ton=3 D) n=4ton=2

11. The general purpose diode is normally used in — 1

(A) beyond cut-in voltage region

(B) before cut-in voltage region.

(C) beyond the reverse saturation current region.
(D) before the reverse saturation current region.

12. Which of the following impurity atoms when doped in silicon,

would produce a p-type semiconductor ? 1
(A) Phosphorus (B) Arsenic
(C) Antimony (D) Boron

Note : For question numbers 13 to 16, two statements are
given — one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer to these questions from
the codes (A), (B), (C) and (D) as given below :

(A) If both Assertion (A) and Reason (R) are true and Reason
(R) 1s the correct explanation of Assertion (A).

(B) If both Assertion (A) and Reason (R) are true, but Reason
(R) 1s not the correct explanation of Assertion (A).

(C) If Assertion (A) is true, but Reason (R) is false.

(D) If both Assertion (A) and Reason (R) are false.

13. Assertion (A) : Only a continuous change of magnetic flux
will maintain an induced emf in a coil. 1
Reason (R) : An induced current has a direction such that
the magnetic field due to the current opposes
the change in the magnetic field that induces
the current.
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14. RRYT (A) : 3FE W foheht 2oft LCR wfmg i ufqamen Z=R 7 | 1

FW(R) ¢ Z = |R%+(Xo—Xp)? a9 3¢ R 3P wfEm
(X ) Hefar gferd (X ) SR gl 2 |

15. HARHST (A) : 7 o TG TN o I G heAeag HId Th ge o =
Trene BId 2 1 U W safehtor Yo o1 Jequr fepa ST © | 1
SR (R) 347 % Tferd wim # fipest <ferd Si-fafei & st gue @
R T et 2 |
16. IR (A) : BT U1 hH Jifd FITER BT R | 1
ST (R)  : BIEHH ol AN HHTGHI BId B |

wie -9
17. I 20 cm T R foreft 4 V i 311eel sl o il @ gafora 8 | 59 an |
Tt SIRIH1 T 3TUETE 977 0.8 mm/s 8 | Soideiqi 1 fasnfa wret uftepfera
It | 2

18. (a) TFEl 10 cm WE GO % 3EdA qUUl g fohell fore 1 amedfoh
Shfers 39 TR 1 & Toh Slafers gt foms g 1 Q1 71 2 | o 3R

wiciferest o == <l gl 371d T | 2
JA¥aT
(b) Is T 4.0 D &wan < el &iF o |1 o8 | 1.50 m 1 gl W @
2 | S et wfafers st wepfa 3 feurfa sma Hifs | 2

19. 700 nm TUTCE T Y611 0.2 mm 6 fopeft forlt W salreresrerg Smaa st
21709 1 m gl W [ W WA e Hl oy Ao Fasie | 2

20. gTsgIoH wuTY] § fopeft freram s7emen & goreeid il Fot ol —13.6 eV 2 |
3Td hifve 2
(a) FoAFe i fefast ot
(ORESEFEEARIGEIE]
(c) BT Sl ot Snall oh UTHTUT 3TN ST <hi TSt Snof ol SALITA
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14. Assertion (A) : At resonance the impedance of a series LCR
circuit is Z = R. 1
Reason (R) : Z = \/R2+(XC—XL)2 and at resonance the
inductive reactance (X;) is equal to the

capacitive reactance (Xg).

15. Assertion (A) : When two coherent sources in Young’s double-
slit experiment (YDSE) are infinitely close to
each other, interference pattern is observed
on a screen. 1

Reason (R) : The fringe width in YDSE does not depend on
separation between the two slits.

16. Assertion (A) : A photon behaves as a particle. 1
Reason (R) : A photon possesses both energy and momentum.
SECTION - B

17. A 20.0 cm long wire is connected across an ideal battery of 4 V.
The drift velocity of conduction electrons in the wire is
0.8 mm/s. Calculate the relaxation time of the electrons. 2

18. (a) The real image of an object is formed at a distance twice the
distance of the object from a concave mirror of focal length
10 cm. Find the distance between the object and the image. 2
OR
(b) An object is placed 1.50 m in front of a lens of power 4.0 D.
Find the nature and position of the image formed. 2

19. Light of wavelength 700 nm is incident normally on a slit of
width 0.2 mm. Find the angular width of the central maximum
on a screen placed at a distance of 1 m from the slit. 2

20. The total energy of an electron in the hydrogen atom in the
ground state is —13.6 eV. Find : 2
(a) the potential energy of the electron.
(b) the kinetic energy of the electron.
(¢) the ratio of the magnitude of the total energy to the kinetic
energy of the electron.
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Tl 8, A ST g H 0.005 A 1 Uiy 8idT 8 | SIS ol T Tfale
T I | 2

|og -
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23. (a) F=ehT & 3 fRR-Tagm &= < sfte we o 3R s = foiflge | 3
(b) TS [ oh TohE TR <l Tl Ueh TR UM H HIST TTT 37RO &1 Wi
IR HUSH! H AIST AT | $H QI H FHH 9RT JaTed i T $7eh el
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(b) 3.0 cm HIE! H1g Hid ! UlgehT TRl TEL I QTS o6 formg o HUL W
2 | 9 i 6 39 fag w1 wfafas feam S 38 Swm | =i &
e 1.5 2 |

25. (a) AT HIWC foh TRl ac @1a 1 g § qiEdd gF W fret garfa
IR foreft Seh & Ut & s aRiEaT aiaT @ | 3
(b) @W-SHE 0.5 H 1 I3 ey Y& g 50 Hz R RRaX deedn
314 V & fpdft ac &id & gaifva 8 | 39 ufuy o 90 &1 iR am
gitesfora shifsre |

26. (a) Toega-<reehia @ & o fafime @ewr fafaw | 3
(b) e gm0 @ w9 @ 7 Ge9 H =ren Hife T frdt afoy |
fereht Tl =t 3Tafa Std Tu foeemo T e S8 3= Bl 8 |

D W AT W 4 e A A e
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Solee - O Tag ¢ Stietl aureed sl n T &t 2 | 3
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21. When the voltage across a p-n junction diode is increased from
0.90 V to 0.95 V, the diode current changes by 0.005 A. Find the

dynamic resistance of the diode. 2
SECTION - C
22. (a) Define the terms ‘emf and ‘terminal voltage’ of a cell. Can
the terminal voltage of a cell ever exceed its emf ? Explain. 3
OR

(b) Define the term current density. Write its SI unit. Derive

the equivalent form of Ohm’s law T = GE). 3

23. (a) Write one point of similarity and one point of difference
between magnetic field and the electrostatic field. 3
(b) A wire of length [ is first bent into a circular loop and then
into a circular coil of two turns. For the same current
passing through them, find the ratio of the magnetic fields
at their centres.

24. (a) State the conditions under which total internal reflection
occurs. 3
(b) A glass slab 3.0 cm thick, is placed over a dark ink dot.
Find the height through which the image of the dot is
raised. The refractive index of the glass is 1.5.

25. (a) Explain how the reactance of a capacitor and that of an
inductor change with the frequency of ac source. 3
(b) An ideal inductor of self-inductance 0.5 H is connected to
an ac source of peak voltage 314 V and frequency 50 Hz.
Calculate the peak value of current in the circuit.

26. (a) Write two characteristics of electromagnetic waves. 3
(b) What is meant by ‘displacement current’ ? Explain briefly
how is displacement current set up during charging of a
capacitor in a circuit.

27. State postulates of Bohr model of hydrogen atom. Using Bohr’s

second postulate, show that the circumference of nth orbit in
hydrogen atom is n times the de Broglie wavelength associated
with the electron revolving in it. 3
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98. (a) ‘warel el SRREERAT B ahur AT | 3

(b) T&W H =R HIfC foh a9 # ghg BH W (i) et a1g 3R (i) Tomeht
eIt i TTqUIgehdT T 9T THTE 9T & | 379 3T <h gfee T |

T e -9
9T GEAT 29 qUT 30 HE-3TII IMUTRG T 2 | =1 SuTdi 61 ue qe
fre fee o gwi 6 3 e

29. Tl wifert et o femelt wenfr <61 &1 il & wfT fohan 1o & | aioTHEEy
TeTie Y Teh e MTafiT 31 gul SRomafem &1 St 8 | 39 bR & wiel %
s IS Tehem forga & wefya & Siran & | Jfe fopeft smmafir svor &6t 37 wici
% st e foRarT STC A1 918 St T WS AT B | GFT wiel & o faver=i
TTiE gry G Soft 31T Wie % AT 1 JHTfd SHLaT 2 | 4x1=4

(G) T el gunfa 6 & il & i & wH § farm 9 et e 3
Tereft goTareia =l ard okt T B | 18 AT o Wiefa 3T Sorere 311
foran 1€ td & | SoTdrele o U1 <hl el | SIS T ool 1

(A) dieEToT SR fem g1 H 90 g |
(B) it & Fum v feom & foodia g |
(C) ftamor & S3feres T feem # foradia grm |
(D) it # sy ui=] foem # fauda gmm |
(ii) foret Sotareia =i fopelt STTafira wefer i € THT=R widi & sfta gar foma
TR 8 | A T T S A hen W T R 7 1
(A) =it % <t fora & erTafi wie @ Fomafd wic i AR fee & |
(B) wiei < sft= {it Teg3ti T TorR[q &3 o TRATOl €0 M ¢ |
(C) wIci & &9 SIS A1 o caul =4I BT |
(D) wiei = oft= forgga & <t fean & fawar d afg Bt 2 |
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28. (a) Define the term ‘resistivity of a material’. 3
(b) Explain briefly how is the resistivity of (1) a metal and (11) a
semiconductor affected with the rise of temperature.
Justify your answer.

SECTION - D

Question Numbers 29 and 30 are Case-Study based questions. Read
the following paragraphs and answer the questions that follow :

29. A power supply 1s connected across the two plates of a
capacitor. Consequently, one plate becomes positively charged
and the other plate becomes negatively charged. Thus a
uniform electric field is established between the two plates. If a
charged particle is released between these two plates, it
experiences a force. The potential difference between the plates
affects its charge and the energy stored in the capacitor. 4x1=4
(1) A proton and an electron are released from rest in the
space between the two plates of a charged capacitor.
Assume that the proton and the electron do not interact
with each other. The acceleration of the proton compared
with that of the electron is 1
(A) same in both magnitude and direction.
(B) same in magnitude but in opposite direction.
(C) greater in magnitude and opposite in direction.
(D) lesser in magnitude but in opposite direction.
(11) An electron is released between the two parallel plates of a
charged capacitor. Which of the following statements is
incorrect ? 1
(A) The electric field between the plates is directed from the
positively charged plate to the negatively charged plate.

(B) The magnitude of electric field is the same at all points
between the plates.

(C) The acceleration of the electrons will be constant
between the plates.

(D) The potential increases in the direction of the electric
field between the plates.
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(iii) Teret Genisr <1 &1 wiel & = faya=R V 2 | 89| m 31 3a9 — e
% ot Soterel ol o & omafda wie @ fiehe ga fobam o 2 |

SoTare < I JTed JATeha ™ =Tet 2 1
em 2eV 2 me
(A) 2eVm  (B) 5V ©) o (D) v
(iv) (a) Toret 3mafyra werfa 6t €1 TaTR wiel & o= fagga & 200 V/im
8 | &Iel o §19 9¥ehd 5 mm B | G wiei o s TawWaT=r g — 1
(A 20V B) 10V
(C) 5.0V D) 1.0V
JHAYAT

(b) RIE Wl I Gl wiel o si= fopell fog W @ 2 | WielM W
IR 9 8 — 1
(A) 1.6x 10719N (B) 2x 109N
(C) 3.2x10°17N (D) 4x 109N

30. I3 BICH Kol 1 FTeH BT & | TR Biei S Sl IGeh! AP T i
AT g | ST IUF ST BT FehrsT FehEt €1 o 58 T STITH LT &, a1 39
T3 H BIgcde{ I BId & | $Heh! I SR I ggell 3T
(v,) TUT T ST ol IS i oh [T ST HHAH a1l I 38 4T
T BB (¢,) Fad @ | FReT STl B 6 HoAl 1 T & &1 4
(i) SoTFRHT bl Gord LA AT (11) IS Tt HA1 IcATIA Sorar bl TSt Snatl o

&g H o1 ST 3, 31T hy = ¢, + TS i | 4x1=4
() Torgd-greehra et % e I had & — 1
(A) ®IRH (B) =g
(C) 319 (D) e
(ii) Tereht BIcH 61 3ot 3.3 x 10719 J & | SEHI ToT & — 1
(A) 9.9 x 1011 kg.m/s (B) 9.9 x 1026 kg.m/s
(C) 1.1 x 1027 kg.m/s (D) 3.3 x 10722 kg.m/s
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(1) The potential difference between the two plates of a
capacitor is V. An electron of mass m and charge — e is
released from rest near the negative plate. The maximum

speed gained by the electron is 1
em 2eV 2 me

A) 2eV B) .[— C D

(A) 2eVm  (B) oV (®) - D) v

(iv) (a) The electric field between two parallel plates of a
charged capacitor is 200 V/m. The plates are 5 mm
apart. The potential difference between the two plates

18 1
(A) 20V (B) 10V

(C) 5.0V (D) 1.0V

OR
(b) A proton 1s located at a point between the above

plates. The force acting on the proton is 1
(A) 1.6x10719N B) 2x 109N

(C) 3.2x 107N (D) 4x 109N

30. A photon is a quantum of energy. The energy of a photon
depends on its frequency (v). When light of suitable frequency is
incident on a metal surface, photo-electrons are emitted from
the surface. The minimum frequency 1is called threshold
frequency (v,) and the minimum energy required to emit an

electron is called the work function (¢,) of that metal. The

energy of an incident photon is utilised in two ways (1) liberating
the electron and (ii)) the remaining energy is given to the

ejected electron as its kinetic energy i.e. hv = ¢, + K.E. 4x1=4
(1) The packet of electromagnetic energy is called — 1
(A) Photon (B) Neutron
(C) Molecule (D) Quark
(i1)) A photon has energy 3.3 x 10~19 J. Its momentum is — 1
(A) 9.9 x 1011 kg.m/s (B) 9.9 x 1026 kg.m/s
(C) 1.1 x 1027 kg.m/s (D) 3.3 x 10722 kg.m/s
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(iii) Tereht & g0 STMERT 5.0 x 1014 Hz 1 Tshavil Jenrel 3cd fhal TR 2 |
It Wifed 3.315 mW 2 | 39 Hid g1 Ifd Tehvg Icaisid BIeHl shi

a9 @ 1
(A) 5.0 x 1014 (B) 6.0 x 1015
(C) 1.0 x 1016 (D) 2.0 x 1017

(iv) (a) Terd 9Tq &1 FRI%EE 2.14 eV 8 | 6 39 914 I8 W 6 x 1014 Hz
TR T FehTRT SATIAH AT &, Al SoIFHI T Bl Bl & |
It Setare Al ehl STTerehad Tt Foll & — 1
(A) 0.34x 10-18J (B) 0.40 x 1017 J
(C) 0.51x 10718 (D) 0.55x 10719 J
YT

(b) Tereht aTg 1 HEHEH 2.21 eV R ITE UG H U Eell g e — 1
(A) 2.1 x 1013 Hz (B) 3.2x 1013 Hz
(C) 5.3x 104 Hz (D) 4.1 x 1015 Hz

gug -
31. (a) (A) Foreft wormmm amer 8 B % wem1 3 amg # <1 farg 1w g 31 g
FANM: 7 I T, W@ € | 58 T i fer-faega feufas st
o fotu e wTe HifTT |

(B) I farg et o =9 ™ o 1.5 x 104 N 2 | 36 91 W &0
EEIEREUIRIE
(i) 3Tai % i 6T gt W g1 AT R fea T,
(i) ST e % TR W1 €1 AT K T S W Seeh %
i< ! gl THH Tl ST | 5
e
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(ii1) Monochromatic light of frequency 5.0 x 104 Hz is produced
by a source. The power emitted is 3.315 mW. The number of

photons emitted per second, on an average, by the sourceis— 1
(A) 5.0x 1014 (B) 6.0 x 1015
(C) 1.0x 1016 (D) 2.0 x 1017

(iv) (a) The work function of a metal is 2.14 eV. When light of
frequency 6 x 1014 Hz is incident on the metal surface,
photoemission of electrons occurs. The maximum
kinetic energy of the emitted electrons is — 1
(A) 0.34x10718J (B) 0.40 x 10°17J
(C) 0.51x10718J (D) 0.55x 10719 J

OR
(b) The work function of a metal is 2.21 eV. The threshold
frequency for the metal is 1
(A) 2.1 x 1013 Hz (B) 3.2x 1013 Hz
(C) 5.3x 104 Hz (D) 4.1 x 1015 Hz

SECTION - E

31. (a) (A) Two points charges q; and q, in air are located at ?1

and T, respectively in a region of uniform external

field E) Obtain an expression for the electrostatic
potential energy of the system.

(B) The coulomb force between two point charges is 1.5 x
104 N. How will this force be affected in the following
situations :

(1) the distance between the charges is doubled.
(11) the magnitude of each charge is doubled but the
distance between the charges remains the same. 5

OR
I 55(B) Page 19 of 24 P.T.O. I
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(b) (A) T ARG HUIT & s FRRRE a1 3 Tecameyvr ot # faved
HINTT |
(B) T % ST gEU 3.0 cm IR T TRA & gea & wiei o s
480 V 1 fawerm I fham w8 | 3 wiel & o=
4 x 1071 kg goaum o fopet 3TTaIfra ot sl gad fohu S W 378
U7 39 Y1 1 FRR a1 R | I Sl wie orenes favg W
(i) ohUT IX TS <hl Tehid q&T
(1) =HUT YT ST T TRHATOT FT HITTT | 5
32. (a) (A) T fopelt =Tt & ®I 9/ YaTfagd 6 IR 8 a1 98 Teehig &
I AR |
(i) Treehia & <ht feum fgiia v aret gfaw g&a oiTss fem =61
3eorg HIFT |
(ii) =TT | g % WY Frachia & fopg TR frao an 2 ¢
(iii) i % SAfITERT 3 317 ! T AW TARIY ST Frehid &3 o
TTCATOT BT TTFerd ohid @ |
(B) = Shifse 6 forelt wehaa greehia & | I8 g fgya
forg TR (i) Tl Fqe 3R (11) 3TEmft Tqe I ST & | 5
JYan

(b) (A) TN m 3R AT q T HIS HUT fehell THAAH Frehi B %
TS H o7 v § TRl JATRR 9 H T L TET 7 | ST i 6
ARG Y TR 99T BT A

(i) TEeh & < JEeral gl & ST |
(ii) <RUT BT A7 A TeRaT ITT |

(iii) AT YT T o 3H bR &1 foh IThT Teh T2k ﬁﬁ%m

T GET B % TR A |

(iv) Torslt foega &= 1 39 TR ITTWEA L foh QMG ST W
feorfea s grehia 5o I Aqferd o |

(v) TrEehT &1 hl Teh1Ieh gl fofam S |

ST Goft JeRTOT § 37T S T TEd ¢ |
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(b) (A) Differentiate between the electrostatic force and the

gravitational force between two charged particles.
(B) A potential difference of 480 V is applied between two

large horizontal plates, kept one above the other, 3.0
cm apart. A charged particle of mass 4 x 10~ kg,
when released at rest between the plates, remains
stationary in the region. If the upper plate is at
positive potential, find
(1) nature of the charge on the particle
(11) the magnitude of the charge on the particle. 5

32. (a) (A) When a current passes through a conductor it
produces a magnetic field.
(1) State the right-hand thumb rule that gives the
direction of the magnetic field.
(1) How does the magnetic field vary with the
distance from the conductor ?
(111) Name the factors (other than the distance) which
affect the magnitude of the magnetic field.
(B) Explain how a magnetic dipole in a uniform magnetic field
attains (1) stable equilibrium (i1) unstable equilibrium. 5
OR
(b) (A) A particle of mass m and charge q is moving with
velocity v in a circular path under the influence of a

uniform magnetic field _B) Explain how will the path

followed be affected when

(1) the strength of magnetic field is decreased.

(11) the velocity of the particle is decreased.

(1) the velocity of charged particle is such that one of
its component is perpendicular to B and another

N
component is parallel to B.

(iv) an electric field is applied in such a way that
electrostatic force balances the magnetic force on
the charged particle.

(v) the magnetic field is suddenly removed.

In each of the above cases, other factors remain the same.
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(B) ferdlt 3maamesr utst, e g Rl o venfad 8 @ g, o Tl
THHHH JFehE & H @ W 3 W HRRA SA-3g0 & g

ST A HIT | 5

33. (a) (A) 3 % foreht fafert i & < farfedi & o= it gt 0.15 mm 2 |
fofer =t uepanff yeprer & weRifira foram mam 2 3 faf@i @ 3.0 m
X TR UG R AT U2 ITed B3T & | U8l 3R 313l HiEg
&= 1 g 8.0 cm @ | ITAM Ty T WehTw K1 awTeEd M
HIT |
(B) et < Toheft ST & A | 31 A, ST T € ShetEieig qi ol
I TRl TR 8 | AT Y H W ekt ehl FEaH AR
Afereha sl o STUTd % foTe =isTeh a1 HifT | 5
Fea

(b)) (A) TS T fomtor 9 o A & foret 59 ABC & %eiss AB W
W%WWWWWACﬁﬁW%W

2 | Ife = o uere o1 31adaie n , a1 A 31 n & s= 999 J1d
HT |

(B) IacHT 1.5 % el 3T ©iF <l iwd g 20 cm & | 1.25
YT o fhEl Ga H g WsH i hl BHE U A@ I | 5
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(B) Derive an expression for torque acting as a
rectangular loop carrying a steady current when
placed in a uniform magnetic field. 5

33. (a) (A) In Young’s double slit experiment, the two slits are
0.15 mm apart. The slits are illuminated by a
monochromatic light and an interference pattern is
obtained a screen kept 3.0 m away from the slits. The
distance between first and eighth minima is 8.0 cm.
Find the wavelength of the light used.

(B) Two coherent waves of amplitude A; and A, are used
in an interference experiment. Derive expression for

the ratio of minimum and maximum intensities of
light obtained in the interference pattern. 5

OR
(b) (A) A ray of light is incident at an angle of incidence, %on

face AB of a prism ABC of angle of prism A. The ray
emerges normally from the opposite face AC. If the
refractive index of the material of the prism be n, find
the relation between A and n.

(B) The focal length of a convex lens of refractive index 1.5
1s 20 cm. Find the focal length of this lens when
immersed in a liquid of refractive index 1.25. 5
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